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Determine the average energy and speed of electron at its mean energy at 0K, if the Fermi | 3
energy is 10eV. o _
Discuss the terms Acceptance angle and Numcrical Aperture. Estimate the values of critical | 3
angle, acceptance angle and numerical aperture il a ray of light enters from air to fiber
having parameters ta=1, pelad=1.46, and fleoe=1.49. . —
Calculate the energy of laser pulse in a ruby laser for concentration 2.8x10™ Cr™” ions. If )
the laser emits radiation of wavelength 6943 A.

What is Temporal Coherence? Explain why two level laset is not possible, in detail. 5
Determine the Miller indices of plane parallel to the z axis and cut intercepts of2and 2/3] 3

along x and y axes, respectively.




